TH28EE ARAZZEMEMASHR

OPFEMFRE (H27,12,23)

c TEJ-D
@ HE 4 — 1 EFFIEFE
@ 4 — O FRmME

XFPE—T1U REBL—TFT XY MEDY

cAREBE—TFTXVE
10% BHAE 2 — 1 #ZEEM
208 1 — 2 BRA

KIFAE 31U

OZBEMPEPEREEBARE (H28,2,7)

10% BE 4 — O =B

2@ 4 — 1 2%

3@ 3 — 1 =2

A0 3 — 0 =@

K 2 — 2 FEE
RS o — 1

XIZEREM  3{1

OFEE=DJ0OvIARE BA# (H2853)

xR 28150 FE1I
B|K 285170 FE1I
858 2B181D0 FTE2{

&’k 370 FE2M
CRBER—T A+
108 WE X-— ZO CBRD
208 —JE dbD CR&E).
108 MK 23— s (RED
2O — X TE CRR)

108 BE —XIE IN (B
108 & —XTE BE CRE)
XA, AR, BR RE HAEES




ORrMBEZAR=

ORIRMEZTAE

— J3IE

208 —
108 BE JX—

2 [oE; XJE—
So# —XJ.
108 W& X —

2 [oE XJE—
3O XX —

4 [O)g X —
5008 XX —X
EERBS JfE—

RS AE—

KARIRBEZFRSEBAS WWE

BAE (H28,6,4)

SR

Iz (PEF)
BN (GTRE)

B ()
= (ERS)
) =))

g (RE)D
M (53
WM (BT
k0 CR&)
=g (B8R
=B (T
A (=)

2hs

BE XZXH16
WA, FR AREASHE

DixE (H28,6,5)
10% BAZ 5 — O 21
208 4 — 0 =28
3[O& 2 — 1 &
HERRES 3 — 1 KIEPR
RS 2 — 1 L£B=
XARIRBEZAE B

OZHPERENBASAIRMN

108 xR X
208 X
YL X YE—
4 [0 X YE—

— Ak

KEPARMZEEA  UE 37

BAE (H28,7,10)
SH GaE)

BAR Rz

B (&3

B (820

g (ZRE)

W CBZ0
I CGBEe)
BN (EP+77)

TR HIZ

BE X332




OZEPERABASARMAFE DFE (H28,7.21722)

108 Y—*F

20 BHAZE 4 — O AW (@kE™H)

3[OE 5 — 0 =ZR& (UFM)

408 3 — 1 SiERN (M)
50 3 — 1 #B& (K

SY L1 3 — 1 = CKRBxm)

RS 4 — 1 Z CKBERM

RES 2 (2) — 2 (3) S+ (8P

XEPARMFZEDE EBE TEA=HE

OHEPEREEAE MAWE (H28,88)

- [BAE
108 WE XX-— ME gk « %&E)
208 XJE— il (Kig » &)
3[O& —X  BE (F9F0 « 0]
- @ixE
TR
@DHE O — 3 FZE (FR)
) 1 — 3 AR (&E

TR TR

XOTEAABAS WA X216

OMFEEB8TOvIAE (H288,28)

* FTADIEE
10% BAZE 3 — O BBH
208 3 — 0 #HEK
RS O — 3 LB

- BFEIEE
10% BHAE 4 — O MU=k
208 3 — 0 #HEK
HERRES 5 — 0 BRA
RS O — 1 k&

- [BAE
1008 Ak —XX BP (£=2)
108 RA Kk — BE EEX)
2[0)& J — T~ (BRD

HERES —X BB (£=2)



XUMEFEES IOV IRE HADKE EEE
EFOAS EEE
BAS £AN 3fi1

OxEBWERFENNEEBAE (H289,18)
XIWAE  KIRFRKRDOPE TS

cFTE)-D
OFPNNij 2 — 0 BRRE
@ 1 — 4 RRE

ABRiFAE FE—THR
OKIRBMEARE FAB (H289,24)
108 BE 3 — O KB

20# 1 — 3 #FEE

ORXRrMUMEFEARZ PREAFE (H28,9,25)

108 BAE 3 — O JEBxX
208 2 — 0 =

3[O& 4 — 0O R=&
RS 2 — 1 xB
RS 3 — 2 £=

XARBMEAZERERE (BB

ORrfFMER= (H28,10,10)
10% B2 5 — O &R (RiL

2 0% 4 — O ZE%E— (S
SOE 3 — O Eduaflm dugm)
HERRES 3 — 1 #HRE KB
RS O — 1 EZ (KM

KARNMEARZ FEBH

L PREMPRE
il ®izx

L LABR ek A NE 8 KAk

| BUTUKSRPEROEE AL
LECTHIFO LOR R ¢ 520

| AREERORA AL
L RLOLD0BIR LT s
o EHOELET §

Lk WA SN LA







